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1. On 21st January 2022, three states observed their 50th Statehood Day, which of the following 

is NOT one amongst these three? 

(A) Manipur (B) Meghalaya 

(C) Nagaland (D) Tripura 

2. Who was instrumental in founding the National Planning Committee (the forerunner of the 

Planning Commission) in 1938, for drawing up a plan of economic development on the basis 

of industrialization? 

(A) Motilal Nehru  

(B) Subash Chandra Bose 

(C) B.G. Tilak  

(D) Moulana Abdul Kalam Azad 

3. In 1933, Mahatma Gandhi withdrew from all political activity and made a country-wide tour 

covering a distance of 12,504 miles. This tour is known as : 

(A) Jan Jagaran Yatra  

(B) Dandi Yatra 

(C) Samaj Samata Yatra  

(D) Harijan Yatra (tour) 

4. Which of the following forts was not constructed during Akbar’s reign? 

(A) Purana Quila (B) Agra Fort 

(C) Lahore Fort (D) Allahabad Fort 

5. Who led the anti-Colonial Tribal revolt of 1812 in the jungles of Wayanad? 

(A) Raman Namby (B) Thalakkal Chandu 

(C) Pazhassi Raja (D) Edachana Kunkan 
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1. 2022 ^jOvq] 21&jV, oPÐV yUòLj°¥ AvqORa 50&LU yUòLj h]jU B\q]\ÿO, 

fLRuÕrpOÐvp]¤ JfLeV CT oPÐ]¤ KÐsæ? 

(A) oe]ÕP¡ (B) SoZLsp 

(C) jLYLsL¢cV (D) Nf]kOq 

2. v|LvyLp]Wv¤¨qe¾]R£ Aa]òLj¾]¤ yLÒ¾]W v]Wyj¾]jV KqO kÈf] 

fáLrL¨OÐf]jLp] 1938&¤ Shw}p ByPNfe yo]f] (ByPNfe WÚ}xR£ oO¢YLo]) 

òLk]¨OÐf]¤ NkiLj kËOvz]\ÿfV BqLeV? 

(A) SoL¾]sL¤ RjzVrO  

(B) yOnLxV \NÎSmLyV 

(C) m].^]. f]sWV  

(D) oTsLj AmÉO¥ WsLU ByLhV 

3. 1933&¤, ozLÄLYLÌ] IsæL qLNì}p Nkv¡¾j°t]¤ j]ÐOU k]ÓLrOWpOU  

12,504 RRo¤ hPq¾]¤ qL^|v|LkWoLp] kq|ajU ja¾OWpOU R\pÅO. CT kq|-a-jU 

Ar]pRÕaOÐfV : 

(A) ^¢ ^LYq¦ pLNf  

(B) h¼] pLNf 

(C) yoL^V yofL pLNf  

(D) zq]^¢ pLNf (kq|ajU) 

4. AWVmr]R£ nqeWLs¾V j]¡Ú]¨L¾ SWLŸ JfLeV? 

(A) kOqLe W~]s (B) BNY SWLŸ 

(C) sLSzL¡ SWLŸ (D) AszmLhV SWLŸ 

5. vpjLŸ]Rs WLaOWt]¤ 1812&Rs RWLStLe]p¤ Bh]vLy] v]qOÈ WsLk¾]jV SjfQf~U 

j¤W]pfV? 

(A) qLo¢ jÒ] (B) fs¨¤ \ÍO 

(C) kuê]qL^ (D) IaS\ÿj WOË¢ 
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6. Which social reformer of Kerala was involved in Kallumala Samaram or Perinad revolt? 

(A) Sree Narayana Guru  

(B) Ayyankali 

(C) Poikayil Appachan  

(D) Chattampi Swamikal 

7. In which year Kerala was declared a fully literate state? 

(A) 1990 (B) 1992 

(C) 1991 (D) 1989 

8. The war criminals of the Second World War were put to trial in : 

(A) Pittsburgh (B) Peitersburg 

(C) Gettysburg (D) Nuremberg 

9. During the 18th Century who among the following philosophers said these famous words? 

“Man is born free but everywhere in chains” : 

(A) Jean Jacques Rousseau  

(B) Voltaire 

(C) Baron de Montesquieu  

(D) Denis Diderot 

10. Which of the following is not an official language of United Nations? 

(A) Spanish (B) French 

(C) Arabic (D) Portuguese 

11. The National Waterway-3, originally extending from Kollam to Kottappuram was extended 

to which place as per National Waterways Act 2016? 

(A) Thrissur (B) Kannur 

(C) Kozhikode (D) Malappuram 
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6. WsæOosL yoq¾]SsL ARsæË]¤ Rkq]jLaV WsLk¾]SsL D¥RÕŸ SWqt¾]Rs yLoPz]W 

kq]ë¡¾LvV? 

(A) è} jLqLpe YOqO  

(B) AáËLt] 

(C) RkLßp]¤ AÕ\ÿ¢  

(D) \ŸÒ] y~Lo]W¥ 

7. SWqtU yÒP¡¹ yLƒqfpOç yUòLjoLp] NkX|Lk]\ÿ v¡xU? 

(A) 1990 (B) 1992 

(C) 1991 (D) 1989 

8. qºLU SsLWozLpOÈ¾]Rs pOÈ¨OãvLt]W¥ Iv]RapLeV v]\Lqe R\áRÕŸfV? 

(A) k]ãVyVm¡YV (B) k}SãuVVyVm¡YV 

(C) RYã]yVm¡YV (D) j|PrUm¡YV 

9. kf]RjŸLU jPãLº]¤ fLRuÕrpOÐ f¾~\]ÍWq]¤ BqLeV CT Nky]ÈoLp vL¨OW¥ 

kr´fV? ""ojOx|¢ y~fNÍjLp] ^j]¨OÐO, kSƒ IsæLp]a¾OU \°sp]sLeV ''  

(A) ^}¢ ^LW~yV rPSyL  

(B) SvL¥Ÿp¡ 

(C) mLq¦ c] RoLRºyVW|P  

(D) Rcj]yV c]cSrLŸV 

10. fLRuÕrpOÐvp]¤ JfLeV RIW|qLNìynpORa KTSh|LY]W nLx AsæL¾fV? 

(A) y×Lj]xV (B) NlμV 

(C) Arm]WV (D) SkL¡\ÿOY}yV 

11. Shw}p ^skLf j]poU 2016 NkWLqU, RWLsæU oOf¤ SWLŸÕOrU vRq j}tOÐ Shw}p 

^skLf&3 JfV òsU vRq-pLeV j}Ÿ]pfV? 

(A) fQêP¡ (B) W¹P¡ 

(C) SWLu]S¨LaV (D) osÕOrU 
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12. Which among the following is NOT a geothermal field in India? 

1. Tatapani 

2. Narora 

3. Puga 

4. Singrauli 

(A)  1, 2 and 3 (B) 1 and 3 

(C) 3 and 4 (D) 2, 3 and 4 

13. Which of the following pairs is INCORRECTLY matched? 

 Parent rock  Metamorphosed rock 

(A) Granite – Gneiss 

(B) Sandstone – Schist 

(C) Limestone – Marble 

(D) Shale – Slate 

14. What projection is used in the Survey Of India (SOI) Topographical maps? 

(A) Lambert Conformal Conic 

(B) Mercator 

(C) Polyconic 

(D) Azimuthal equidistant 

15. Noto, which suffered a 7.5 scale Earthquake and a devastating tsunami on new year day of 

2024 is in which Asian country? 

(A) South Korea (B) Afghanistan 

(C) India (D) Japan 
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12. fLRuÕrpOÐvp]¤ JfLeV CÍ|p]¤ nPfLkj]spsæ? 

1. fLfkLj] 

2. jSrLr 

3. kOY 

4. y]‚VRNYTt] 

(A) 1, 2, 3 (B) 1, 3 

(C) 3, 4 (D) 2, 3, 4 

13. fLRuÕrpOÐ S^Lc]Wt]¤ JfLeV RfãLp] RkLqO¾RÕŸfV? 

 kLq£V SrL¨V qPkL-Í-q-RÕŸ kLr 

(A) NYLRRjãV – ®}yV 

(B) oe¤¨sæV – y]ðV 

(C) \O¹LÒOWsæV – oL¡m]¥ 

(D) RxpV¤ – SyæãV 

14. y¡Sv KLlV CÍ| (SOI) SaLSÕLNYLl]¨¤ oLÕOWt]¤ JfV RNkL^ƒ¢ BeV 

DkSpLY]¨OÐfV ? 

(A) sLUm¡ŸV W¦SlL¡o¤ SWLe]¨V  

(B) Ro¡S¨ã¡ 

(C) SkLt]SWLe]WV  

(D) Ay]oO¾¤ yohPqU 

15. 2024 Rs kOfOv¡x h]j¾]¤ 7.5 yVRWp]s]¤ nPWÒvOU v]jLwWqoLp yOjLo]pOU 

AjOnv]\ÿ SjLSŸL JfV Jx|¢ qL^|¾LeV? 

(A) hƒ]e RWLr]p (B) AlVYLj]òL¢ 

(C) CÍ| (D) ^ÕL¢ 
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16. Find out the instruments of monetary policy in India : 

(i) Marginal Standing Facility Rate 

(ii) Deficit financing 

(iii) Statutory Liquidity Ratio 

(iv) Taxation policies 

(A) only (i) and (ii) (B) only (i) and (iii) 

(C) only (i), (ii) and (iii) (D) only (i), (ii) and (iv) 

17. What does the Government do in a contractionary fiscal policy? 

(A) Higher Government spending and lower taxes 

(B) Higher Government spending and higher taxes 

(C) Lower Government spending and higher taxes 

(D) Lower Government spending and lower taxes 

18. GDP at factor cost is equal to : 

(A) GDP at market price – Net indirect taxes 

(B) GDP at market price + Net indirect taxes 

(C) GDP at market price – Depreciation 

(D) GDP at market price + Depreciation 

19. Which five-year plan did the Government introduce Insurance Regulatory Authority in 

India? 

(A) Seventh Five Year Plan (B) Ninth Five Year Plan 

(C) Tenth Five Year Plan (D) Eleventh Five Year Plan 

20. Which of the following Union Ministry launched e-Shram portal for creating a Centralized 

database of all unorganized workers? 

(A) Ministry of Finance 

(B) Ministry of Skill Development and Entrepreneurship 

(C) Ministry of Social Justice and Empowerment 

(D) Ministry of Labour and Employment 
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16. CÍ|p]Rs kejp¾]R£ DkWqe°¥ WRº¾OW : 

(i) oL¡^]j¤ ðL¢c]UYV Rly]s]ã] SrãV 

(ii) WÚ] ijyzLpU 

(iii) j]poLjOyQf s]W~]c]ã] SrSx|L 

(iv) j]WOf] jp°¥ 

(A) (i), (ii) oLNfU (B) (i), (iii) oLNfU 

(C) (i), (ii), (iii) oLNfU (D) (i), (ii), (iv) oLNfU 

17. KqO ySËL\kqoLp ijjp¾]¤ y¡¨L¡ IÍLeV R\áOÐfV? 

(A) Dp¡Ð y¡¨L¡ R\svOU WOr´ j]WOf]WtOU 

(B) Dp¡Ð y¡¨L¡ R\svOU Dp¡Ð j]WOf]WtOU 

(C) WOr´ y¡¨L¡ R\svOU Dp¡Ð j]WOf]WtOU 

(D) WOr´ y¡¨L¡ R\svOU WOr´ j]WOf]WtOU 

18. lLWVa¡ R\sv]¤ ^]c]k] Cf]jV fOs|oLeV : 

(A) v]ke] v]sp]¤ ^]c]k] – Aã kSqLƒ j]WOf]W¥ 

(B) v]ke] v]sp]¤ ^]c]k] + Aã kSqLƒ j]WOf]W¥ 

(C) v]ke] v]sp]¤ ^]c]k] – oPs|¾W¡\ÿ 

(D) v]ke] v]sp]¤ ^]c]k] + oPs|¾W¡\ÿ 

19. y¡¨L¡ CÍ|p]¤ C¢xOr¢yV RrYOSsãr] ASfLr]ã] jaÕ]sL¨]pfV JfV kμvÃq 

kÈf] WLs-¾L-eV? 

(A) JuLU kμvÃq kÈf] (B) KÒfLU kμvÃq kÈf] 

(C) k¾LU kμvÃq kÈf] (D) kf]RjLÐLU kμvÃq kÈf] 

20. IsæL AyUZa]f RfLu]sLt]WtORapOU SWNÎ}WQf cLãLSmyV yQì]¨OÐf]jLp] 

fLRuÕrpOÐvp]¤ JfV SWNÎ oNÍLspoLeV C&èU SkL¡Ÿ¤ BqUn]\ÿfV ? 

(A) ijWLq| oNÍLspU 

(B) RRjkOe| v]Wyj yUqUnWf~ oNÍLspU 

(C) yLoPz| j}f], wL©}Wqe oNÍLspU 

(D) Ssm¡, IUSkæLpVRo£V oNÍLspU 
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21. Which of the following is not a function of civil service? 

(A) Implementation of Government’s Policies  

(B) Delegated Legislation 

(C) Mobilize opposition to the Government 

(D) Carrying out the social services 

22. Which among the following is/are correct regarding the objectives of NeGP as articulated in 
its Vision Statement? 

(i) to bring public services closer home to citizens 

(ii) ensure efficiency and transparency 

(iii) services at free of costs 

(A) only (i) (B) only (i) and (ii) 

(C) only (i) and (iii) (D) only (ii) and (iii) 

23. Which among the following is/are correct regarding the functions of Political parties? 

(i) function of socialization and participation 

(ii) function of integration 

(iii) function of exercising political power 

(A) only (i) and (ii) (B) only (iii) 

(C) only (i) and (iii) (D) all the above 

24. Name the scheme introduced by the Central Government to incentivize creation of new 
employment along with social security benefits and restoration of loss of employment during 
COVID-19 pandemic : 

(A) Pradhan Mantri Rojgar Protsahan Yojana (PMRPY) 

(B) Aatmanirbhar Bharat Rojgar Yojana (ABRY) 

(C) Production-Linked Incentive (PLI) Scheme 

(D) Stand up India Scheme 

25. Which state has recently announced a reduction in the age limit for old-age pensions from  
60 to 50, with a specific focus on tribals and Dalits, in order to enhance financial support for 
marginalized communities within the state? 

(A) Jharkhand (B) Maharashtra 

(C) Orissa (D) Chhattisgarh 
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21. fLRuÕrpOÐvp]¤ JfLeV y]v]¤ y¡v}y]R£ Nkv¡¾josæL-¾-fV? 

(A) Yv¦Ro£]R£ jp°¥ jaÕ]sL¨¤ 

(B) j]pO© j]poj]¡ÚLeU 

(C) Yv¦Ro£]Rjf]qLp If]¡ÕV yoLzq]¨OW 

(D) yLoPz]W Syvj°¥ j]¡vz]¨OÐO 

22. v]x¢ SðãVRo£]¤ v|©oL¨]p]ŸOç NeGP pORa sƒ|°Rt yUmÌ]\ÿV 

fLRuÕrpOÐvp]¤ JfLeV wq]pLpfV? 

(i) RkLfO Syvj°¥ kTqÓL¡¨V v}a]R£ AaO¾V I¾]¨OW 

(ii) WLq|ƒofpOU yOfLq|fpOU DrÕL¨OW 

(iii) yT^j| Syvj°¥ 

(A) (i) oLNfU (B) (i), (ii)  oLNfU 

(C) (i), (iii) oLNfU (D) (ii), (iii)  oLNfU 

23. qLNì}p kL¡Ÿ]WtORa Nkv¡¾j°tOoLp] mÌRÕŸV fLRuÕrpOÐvp]¤ JfLeV 

wq]pLpfV? 

(i) yLoPz]W v¤¨qe¾]R£pOU kËLt]¾¾]R£pOU Nkv¡¾jU 

(ii) yUSpL^j¾]R£ Nkv¡¾jU 

(iii) qLNì}p Ai]WLqU NkSpLY]¨OÐf]R£ Nkv¡¾jU 

(A) (i),  (ii)  oLNfU (B) (iii) oLNfU 

(C) (i),  (iii) oLNfU (D) oOWt]¤ kr´vRpsæLU 

24. SWLv]cV&19 kL¢Rco]WV yop¾V yLoPz]W yOqƒL BjOWPs|°¥R¨LÕU kOf]p 

RfLu]¤ yQì]¨OÐf]jOU RfLu]¤ jìU kOj@òLk]¨OÐf]jOU SNkLÃLzjU 

j¤WOÐf]jOoLp] SWNÎ y¡¨L¡ Avfq]Õ]\ÿ kÈf]pORa SkqV : 

(A) NkiL¢oNÍ] SrL^VY¡ SNkLÃLz¢ SpL^j (PMRPY) 

(B) BÄj]¡n¡ nLqfV SrL^VY¡ SpL^j (ABRY) 

(C) RNkLcƒ¢&s]ËVcV C¢Ry£}vV (PLI) yVW}U 

(D) ðL¢cV AÕV CÍ| yVW}U 

25. Bh]vLy]W¥¨OU ht]f¡¨OU NkSf|W èÈ j¤W]R¨LºV, yUòLj¾]jOç]Rs 

kL¡w~v¤¨q]¨RÕŸ yoOhLp°¥¨V yLÒ¾]W k]ÍOe v¡È]Õ]¨OÐf]jV 

vL¡ÈW| Rk¢xjOWtORa NkLpkq]i] 60 ¤ j]ÐV 50 Bp] WOr-\ÿÿ yUòLjU JfLeV? 

(A) ^L¡X¼V (B) ozLqLNì 

(C) Kr}ô (D) M¾}yVYcV 
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26. Consider the following statements with regard to the Constituent Assembly : 
(i) The idea of a constituent assembly was put forward for the first time by Jawaharlal 

Nehru 
(ii) Total strength of the assembly was 389  
(iii) Mahatma Gandhi was a member of the Constituent Assembly 
Which of the statements given above is/are correct? 

(A) only (i) (B) only (ii) 

(C) only (i) and (ii) (D) all the above 

27. Article 26 provides Freedom to manage religious affairs which is subjected to which of the 
following? 
(i) Public order 
(ii) Morality 
(iii) Health 

(A) only (i) and (ii) (B) only (iii) 

(C) only (i) and (iii) (D) all the above 

28. Article/s which has provided provisions for the protection and improvement of the 
environment and the safeguarding of forests and wildlife : 
(i) 31A 
(ii) 48A 
(iii) 51A 

(A) only (i) and (ii) (B) only (ii) and (iii) 

(C) only (iii) (D) all the above 

29. Consider the following statements with regard to the removal from the offices of  
Speaker : 
(i) Requires a majority of all the members of the House 
(ii) Requires 2/3rd majority of members present and voting 
(iii) Mandatory to give a minimum of 14 days’ notice of the intention to move the resolution 
Which of the statements given above is/are correct? 

(A) only (i) and (ii) (B) only (ii)  

(C) only (i) and (iii) (D) only (ii) and (iii) 

30. What is/are the major change/s made through 106th Constitutional Amendment? 
(i) Amended article 239AA 
(ii) Insertion of articles 330A, 332A 
(iii) Separate reservations for OBC women 

(A) only (i) (B) only (ii) 

(C) only (i) and (ii) (D) all the above 
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26. nqeZajL AyUmæ]pOoLp] mÌRÕŸV fLRuÕrpOÐ NkyVfLvjW¥ kq]Ye]¨OW : 
(i) KqO nqeZajL AyUmæ] IÐ BwpU Bh|oLp] oOSÐLŸV Rv\ÿfV ^vz¡sL¤ 

RjzVrOvLeV. 
(ii) j]poynp]Rs BRW AUY°¥ 389 Bp]qOÐO 
(iii) ozLÄLYLÌ] nqeZajL AyUmæ]p]Rs AUYoLp]qOÐO 

oOWt]¤ j¤W]p]q]¨OÐ NkyVfLvjWt]¤ JfLeV wq]? 

(A) (i) oLNfU (B) (ii) oLNfU 
(C) (i), (ii) oLNfU (D) oOWt]¤ kr´vRpsæLU 

27. B¡Ÿ]¨]¥ 26 ofkqoLp WLq|°¥ RRWWLq|U R\áLjOç y~LfNÍ|U j¤WOÐO, AfV 
fLRuÕrpOÐvp]¤ Jf]jV v]SipoLeV? 
(i) RkLfO NWoU 
(ii) iL¡Ú]Wf 
(iii) BSqLY|U 

(A) (i), (ii) oLNfU (B) (iii) oLNfU 
(C) (i), (iii) oLNfU (D) oOWt]¤ kr´vRpsæLU 

28. kq]ò]f] yUqƒe¾]jOU Ro\ÿRÕaO¾s]jOU vj°tORapOU vj|^}v]WtORapOU 

yUqƒe¾]jOU v|vòW¥ j¤W]p]ŸOç AjO-S±hU/AjO-S±°¥ : 
(i) 31 I 
(ii) 48 I 
(iii) 51 I 

(A) (i), (ii) oLNfU (B) (ii), (iii) oLNfU 
(C) (iii) oLNfU (D) oOWt]¤ kr´vRpsæLU 

29. KLl}yOWt]¤ j]ÐV yVk}¨Rr j}¨U R\áOÐfOoLp] mÌRÕŸV fLRuÕrpOÐ 
NkñLvjW¥ kq]Ye]¨OW. 
(i) ynp]Rs IsæL AUY°tORapOU nPq]kƒU Bvw|oLeV. 
(ii) zL^qLWOWpOU SvLŸOR\áOWpOU R\áOÐ AUY°tORa 2/3 nPq]kƒU 

Bvw|oLeV 
(iii) NkSopU j}¨OÐf]jOç DSÇw|R¾¨Or]\ÿV WOr´fV 14 h]vyR¾ Ar]p]ÕV 

j¤SWºfV j]¡mÌoLeV 

oOWt]¤ j¤W]p]q]¨OÐ NkñLvjWt]¤ JfLeV wq]? 

(A) (i), (ii) oLNfU (B) (ii) oLNfU 
(C) (i), (iii) oLNfU (D) (ii), (iii) oLNfU 

30. 106&LU nqeZajL SnhYf]p]sPRa vqO¾]p NkiLj oLãU/oLã°¥ IÍLeV?  
(i) SnhYf] R\pVf B¡Ÿ]¨]¥ 239AA 
(ii) B¡Ÿ]¨]¥ 330A, 332A D¥RÕaO¾¤ 
(iii) Km]y] yVNf}W¥¨V NkSf|W yUvqeU 

(A) (i) oLNfU (B) (ii) oLNfU 
(C) (i), (ii) oLNfU (D) oOWt]¤ kr´vRpsæLU 
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31. Who won Wimbledon in 2023? 

(A) Novak Djokovic (B) Carlos Alcaraz 

(C) Jennik Sinner (D) Daniil Medvedev 

32. Which book won the first Vayalar Award? 

(A) Randamoozham (B) Ummachu 

(C) Agnisakshi (D) Eni Njan Urangatte 

33. Who is the first Malayali to win an Oscar? 

(A) Resul Pookutty (B) Satyajit Ray 

(C) P.J. Antony (D) M.T. Vasudevan Nair 

34. How many runs did Sachin Tendulkar score in one day international cricket? 

(A) 19,463 (B) 15,921 

(C) 14,368 (D) 18,426 

35. Who is the screenplay writer of the film Kattukuthira? 

(A) Thakazhi Sivasankara Pillai (B) P.C. Kuttikrishnan 

(C) S.L. Puram Sadanandan (D) Ramu Kariat 

36. Who wrote the preface to G. Sankara Kurup’s Odakkuzhal? 

(A) S. Guptan Nair (B) Joseph Mundassery 

(C) M. Leelavathi (D) Sukumar Azhikode 

37. In which year did Kumaranasan passed away? 

(A) 1922 (B) 1924 

(C) 1926 (D) 1928 

38. Who is the director of the movie Kanchana Seetha? 

(A) G. Aravindan (B) Adoor Gopalakrishnan 

(C) P. Padmarajan (D) Bharathan 

39. Who was the coach of Argentina football team for 2022 FIFA World Cup? 

(A) Carlos Bilardo (B) Didier Deschamps 

(C) Claudio Echeverri (D) Lionel Scaloni 

40. Thunchan Parampu is located in which district in Kerala? 

(A) Palakkad (B) Malappuram 

(C) Kozhikode (D) Thrissur 
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31. 2023&¤ v]Um]¥ce]¤ v]^-pU Sja]-p-fV BqLeV? 

(A) RjLvLWV S^LS¨Lv]\ÿV (B) WL¡SsLyV A¤WLqLyV 
(C) R^Ð]WV y]Ð¡ (D) cLj]¤ RohVvShvV 

32. Bh|R¾ vpsL¡ AvL¡cV Sja]p kOyVfWU : 

(A) qºLoPuU (B) DÚL\ÿO 
(C) A®]yLƒ] (D) Cj] `L¢ D-r°RŸ 

33. KLyVWL¡ Sja]p Bh| ospLt] BqLeV? 

(A) ryP¤ kP¨OŸ] (B) yf|^]fV Sr 
(C) k].R^. B£e] (D) IU.a]. vLyOShv¢ jLp¡ 

34. JWh]j AÍLqLNì NW]¨ã]¤ y\ÿ]¢ RaºO¤¨¡ INf r¦yV Sja]? 

(A) 19,463 (B) 15,921 
(C) 14,368 (D) 18,426 

35. WLŸOWOf]q IÐ y]j]opORa f]q¨gLWQ¾V BqLeV? 

(A) fWu] w]vwËqÕ]ç (B) k].y]. WOŸ]WQxVe¢ 
(C) IyV.I¤. kOqU yhLjÎ¢ (D) qLoO WLq|LŸV 

36. ^].wËq¨OrOÕ]R£ KLa¨Ous]jV BoOXU IuOf]pfV BqLeV? 

(A) IyV. YOkVf¢ jLp¡ (B) S^LylV oOºSêq] 
(C) IU. s}sLvf] (D) yOWOoL¡ Au]S¨LaV 

37. WOoLqjLwL¢ AÍq]\ÿ v¡xU : 

(A) 1922 (B) 1924 
(C) 1926 (D) 1928 

38. WLμj y}f IÐ y]j]opORa yUv]iLpW¢ BqLeV? 

(A) ^]. Aqv]Î¢ (B) AaP¡ SYLkLsWQxVe¢ 
(C) k]. kÄqL^¢ (D) nqf¢ 

39. 2022 l]l SsLW WÕ]Rs A¡^£}j lOaVSmL¥ a}o]R£ kq]w}sW¢ BqLp]qOÐO? 

(A) WL¡SsLyV m]sL¡ScL (B) h]h]p¡ RRhxLkVyV 
(C) SWæLc]SpL IR\ÿSvq] (D) spe¤ yVWSsLj] 

40. SWqt¾]Rs JfV ^]sæp]sLeV fOμ¢ krÒV ò]f] R\áOÐfV? 

(A) kLs¨LaV (B) osÕOrU 
(C) SWLu]S¨LaV (D) fQwP¡ 



 

 

038/2024-M 

A -16-

41. Match the following : 

(i) Hub  (a) Can handle different protocols  

(ii) Router (b) Amplifies the signal transmitted on network 

(iii) Repeater (c) Connects two dissimilar networks 

(iv) Gateway (d) Connect several computers together 

(A) (i) - (d), (ii) - (a), (iii) - (b), (iv) - (c) 

(B) (i) - (a), (ii) - (d), (iii) - (b), (iv) - (c) 

(C) (i) - (d), (ii) - (a), (iii) - (c), (iv) - (b) 

(D) (i) - (d), (ii) - (c), (iii) - (b), (iv) - (a) 

42. The supplemental memory system that temporarily stores frequently used instructions and 
data for faster processing by a computer’s Central Processing Unit (CPU) : 

(A) RAM (B) Hard Disk Drive 

(C) Cache Memory (D) Flash Memory 

43. An advanced phishing technique where attackers make a clone of a website and send the 
malicious link to the victim and try to extract sensitive data such as card numbers, user 
names, passwords etc., from victims : 

(A) Ransomeware (B) Salami Attack 

(C) Web Jacking (D) Virus 

44. A software that can be freely accessed and modified is called : 

(A) Proprietary software (B) Package software 

(C) Middleware (D) Open source software 

45. One of the most popular search engines, founded by Larry Page and Sergy Brin is : 

(A) Yahoo (B) Google 

(C) Bing (D) Safari 

46. Which among the following is a Government health insurance scheme launched in the  
year 2018? 

(A) Rashtriya Swasthya Bima Yojana 

(B) Ayushman Bharat Pradhan Mantri Jan Arogya Yojana 

(C) Pradhan Mantri Swasthya Suraksha Yojana 

(D) Pradhan Mantri Suraksha Bima Yojana 
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41. fLRuÕrpOÐv RkLqO¾RÕaO¾OW : 

 (i) zmV (a) v|f|yVf SNkLSŸLS¨LtOW¥ RRWWLq|U R\áL¢ Wu]pOU 

 (ii) rPŸ¡ (b) RjãVv¡¨]¤ RRWoLãU R\áOÐ y]®s]Rj v¡È]Õ]¨OÐO 
 (iii) r]Õ}ã¡ (c) qºV v|f|yVf RjãVv¡¨OWRt mÌ]Õ]¨OÐO 
 (iv) SYãVSv (d) j]qvi] WÒ|PŸrOW¥ KqOo]\ÿV mÌ]Õ]¨OW 

(A) (i) - (d), (ii) - (a), (iii) - (b), (iv) - (c) 
(B) (i) - (a), (ii) - (d), (iii) - (b), (iv) - (c) 
(C) (i) - (d), (ii) - (a), (iii) - (c), (iv) - (b) 
(D) (i) - (d), (ii) - (c), (iii) - (b), (iv) - (a) 

42. WÒ|PŸr]R£ Ry¢Na¤ SNkLyô]UYV pPe]ãV (y]k]pO) SvY¾]sOç SNkLyô]UY]jLp] 
kf]vLp] DkSpLY]¨OÐ j]¡SÇw°tOU cLãpOU fL¤¨Ls]WoLp] yUnq]¨OÐ 
ykæ]Ro£¤ RoÚr] y]ðU : 

(A) rLU (B) zL¡cV c]yVWV RRNcvV 
(C) WLRx RoÚr] (D) læLxV RoÚr] 

43. BNWoeWLq]W¥ KqO RvmVRRyã]R£ KqO SWæL¦ DºL¨OWpOU CqpV¨V ƒONhWqoLp 
s]ËV AppV¨OWpOU CqWt]¤ j]ÐV WL¡cV jÒrOW¥, DkSpL©QjLo°¥, 
kLyVSvcOW¥ oOfsLpv SkLsOç Ry¢y]ã}vV cLã IWVyVNaLWVãV R\áL¢ 
èo]¨OWpOU R\áOÐ v]kOsoLp l]x]UYV yLSËf]WfpLeV : 

(A) Rr¦SyLURvp¡ (B) ysLo] BNWoeU 
(C) RvmV ^L¨]UYV (D) RRvryV 

44. y~fNÍoLp] BWVyyV R\áLjOU kq]xV¨q]¨LjOoOç KqO SyLlVãVRvpr]Rj ————

IÐO  el-jJ-ÐJ. 

(A) RNkLRRNkãr] SyLlVãVRvp¡ (B) kLS¨^V SyLlVãVRvp¡ 
(C) o]c]¤Rvp¡ (D) KLÕ¦ SyLuõV SyLlVãVRvp¡ 

45. sLr] Sk^OU Ry¡^] Nm]jOU S\¡ÐV òLk]\ÿ JãvOU ^jNk]poLp Ry¡\ÿV 
Iμ]jOWt]¤ KÐV : 

(A) pLzP (B) YPY]¥ 
(C) m]UYV (D) ylLq] 

46. fLRuÕrpOÐvp]¤ JfLeV 2018&¤ BqUn]\ÿ y¡¨L¡ BSqLY| C¢xOr¢yV kÈf]? 

(A) qLNì}p y~Lò| m}o SpL^j 

(B) BpOxVoL¢ nLqfV NkiL¢oNÍ] ^¢ BSqLY| SpL^j 
(C) NkiL¢oNÍ] y~Lò| yOqƒL SpL^j 
(D) NkiL¢oNÍ] yOqƒL m}oL SpL^j 
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47. Arrange the following renewable energy sources in the decreasing order of their contribution 
to electricity generation in India : 

1. Solar power 

2. Wind power 

3. Biomass 

Select the correct answer 

(A) Solar power < Biomass < Wind power 

(B) Solar power > Biomass > Wind power 

(C) Wind power < Solar power < Biomass 

(D) Solar power > Wind power > Biomass 

48. Which of the following is not a satellite of Indian origin? 

(A) XPoSat (B) IXPE 

(C) SROSS-C (D) HySIS 

49. Consider the following statements on The Convention on Biological Diversity : 

1. It is the key international treaty for the conservation and sustainable use of 
biodiversity 

2. It is primarily implemented through national level action 

3. National Biodiversity Strategies and Action Plans (NBSAPs) are the principal 
instruments for implementing the Convention at the national level 

4. It requires countries to prepare a national biodiversity strategy and to mainstream this 
strategy into the planning of the sectors whose activities can have an impact (positive 
and negative) on biodiversity 

Which of the statements given above are correct? 

(A) 1, 2 and 4 only 

(B) 1, 3 and 4 only 

(C) 2 and 4 only 

(D) 1, 2, 3 and 4 

50. What is the distance of the Lagrange point 1(L1) of the Sun-Earth system? 

(A) 1.5 million km from the Earth 

(B) 1.5 million km from the Sun 

(C) 1.5 lakh km from the Earth 

(D) 1.5 lakh km from the Sun 
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47. fLRuÕrpOÐ kOjqOkSpLY DT¡² SNyLfôOW¥ CÍ|p]Rs RRvh|OSfL¤ÕLhj¾]¤ 

AvpORa yUnLvj WOrpOÐ NWo¾]¤ NWo}Wq]¨OW : 

1. yTSqL¡²U 

2. WLãV w©] 

3. mSpLoLyV 

wq]pLp D¾qU f]qR´aO¨OW. 

(A) yTSqL¡²U < mSpLoLyV  <  WLãV w©] 

(B) yTSqL¡²U > mSpLoLyV  >  WLãV w©] 

(C) WLãV w©]  < yTSqL¡²U <  mSpLoLyV 

(D) yTSqL¡²U  > WLãV w©] >  mSpLoLyV 

48. fLRuÕrpOÐvp]¤ JfLeV CÍ|¢ vUw^qORa DkNYzosæL¾fV? 

(A) XPoSat (B) IXPE 
(C) SROSS-C (D) HySIS 

49. RR^v RRvv]i|R¾¨Or]\ÿOç W¦Rv¢xRj¨Or]\ÿOç fLRuÕrpOÐ NkyVfLv 

jW¥ kq]Ye]¨OW : 

1. RR^vRRvv]i|¾]R£ yUqƒe¾]jOU yOò]q DkSpLY¾]jOoOç NkiLj 

AÍLqLNì DaÒa]pLe]fV 

2. Shw}p fs¾]sOç Nkv¡¾j¾]sPRapLeV CfV NkLgo]WoLp] jaÕ]sL¨OÐfV 

3. Shw}p RR^vRRvv]i| fNÍ°tOU Nkv¡¾j kÈf]WtOU (NBSAPs) Shw}p 

fs¾]¤ W¦Rv¢x¢ jaÕ]sL¨OÐf]jOç NkiLj DkWqe°tLeV. 

4. KqO Shw}p RR^vRRvv]i| fNÍU fáLrL¨LjOU CT fNÍU RR^vRRvv]i|¾]¤ 

(SkLy]ã}vV, RjYã}vV) y~Li}jU R\sO¾L¢ Wu]pOÐ SoXsWtORa 

ByPNfe¾]Ss¨V CT fNÍR¾ oOX|iLqpL¨LjOU qL^|°¥ Bvw|RÕaOÐO. 

oOWt]¤ j¤W]p]q]¨OÐ NkñLvjWt]¤ JfLeV wq]? 

(A) 1, 2, 4  oLNfU (B) 1, 3, 4 oLNfU 

(C) 2, 4  oLNfU (D) 1, 2, 3, 4 

50. yPq|&nTo v|vòpORa sNYLμV SkLp]£V 1(L1) R£ hPqU INfpLeV? 

(A) nPo]p]¤ j]ÐV 1.5 hwsƒU W].o}.  

(B) yPq|j]¤ j]ÐV 1.5 hwsƒU W].o}. 

(C) nPo]p]¤ j]ÐV 1.5 sƒU W].o}.  

(D) yPq|j]¤ j]ÐV 1.5 sƒU W].o}. 
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51. Arjun went 25 km to the west from his house, then turned left and walked 15 km. He then 
turned East and walked 40 km and finally turned left and covered 15 km. How far is he now 
from his house? 

(A) 20 km (B) 15 km 
(C) 40 km (D) 25 km 

52. Find the next item in the alpha-numeric series : 

Z1A, X2D, V6G, T21J, R88M, P445P, ——— 

(A) N2676S (B) T2670N 
(C) N2676T (D) T2676N 

53. If the first day of the year (other than leap year) was Sunday, then which was the last day of 
the year? 

(A) Monday  (B) Tuesday  
(C) Sunday  (D) Thursday  

54. P is Q’s sister. R is Q’s mother. S is R’s father. T is S’s mother. Then how is P related to S? 

(A) Grand mother   
(B) Grand father  
(C) Daughter  
(D) Grand daughter 

55. In an examination, 40 percentage of students failed in English and 53 percentage in 
Mathematics. If 15 percentage failed in both subjects, what is the percentage of those who 
passed in both subjects? 

(A) 24 (B) 26 
(C) 23 (D) 22 

56. If RED = 12, BLUE = 20, VIOLET = 42. What is the code for MAGENTA? 

(A) 71 (B) 13 
(C) 56 (D) 101 

57. What is the angle between the hour hand and minute hand of the clock at 6.40? 

(A) 40° (B) 32° 
(C) 26° (D) 45° 
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51. A¡^O¢ fR£ v}Ÿ]¤ j]ÐV 25 W]SsLo}ã¡ ka]´LSrLŸV SkLp], k]Ð}aV CaS¾¨V f]q] V́ 

15 W]SsLo}ã¡ jaÐO. k]Ð}aV W]uS¨LŸV f]q]´V 40 W]SsLo}ã¡ jaÐV KaOv]¤ CaS¾¨V 

f]q]´V 15 W]SsLo}ã¡ k]Ð]ŸO. Av¢ CSÕL¥ v}Ÿ]¤ j]ÐV INf hPRqpLeV?  

(A) 20 W].o}. (B) 15 W].o}. 

(C) 40 W].o}. (D) 25 W].o}. 

52. B¤lL&yUX|L Sèe]p]Rs AaO¾ khU WRº¾OW : 

Z1A, X2D, V6G, T21J, R88M, P445P, ——— 

(A) N2676S (B) T2670N 

(C) N2676T (D) T2676N 

53. v¡x¾]Rs Bh| h]vyU (Ai]v¡xU Ku]RWpOçfV) `LprLuV\pLReË]¤, 

v¡x¾]Rs AvyLj h]vyU JfLeV? 

(A) f]Ë¥ (B) R\Lvÿ 

(C) `Lp¡ (D) v|LuU 

54. P, Q v]R£ ySzLhq]pLeV. R IÐfV  Q pORa AÚpLeV. S IÐfV R R£ k]fLvV. S R£ 

AÚpLeV  T. IË]¤ P àV S pOoLpOç mÌU IÍL-eV? 

(A) oO¾ê] (B) oO¾±¢ 

(C) oW¥ (D) RWL\ÿOoW¥ 

55. KqO kq}ƒp]¤ 40 wfoLjU v]h|L¡À]W¥ CUYæ}x]sOU 53 wfoLjU Sk¡ Ye]f¾]sOU 

kqL^pRÕŸO. qºO v]xp°t]sOU 15 wfoLjU SfLãL¤ qºV v]xp°t]sOU 

v]^p]\ÿvqORa wfoLjU INf? 

(A) 24 (B) 26 

(C) 23 (D) 22 

56. \OvÕV = 12, j}s = 20, vpsãV = 42. o^ÍpORa SWLcV IÍLeV? 

(A) 71 (B) 13 

(C) 56 (D) 101 

57. 6.40&jV SWæL¨]R£ oe]¨P¡ yP\]¨OU o]j]ãV yP\]¨OU Cap]sOç SWL¦ INf? 

(A) 40° (B) 32° 

(C) 26° (D) 45° 
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58. A watch which is set correct at 5 am, gains 2 minutes in every 30 minutes. What is the actual 

time when the watch shows 10.20 am on the same day? 

(A) 10.40 am (B) 9.45 am 

(C) 10.00 am (D) 10.10 am 

59. The average of six consecutive even numbers is 25. What is the difference between the 

largest and the smallest of these numbers? 

(A) 20 (B) 10 

(C) 45 (D) 15 

60. 40 friends at a marriage party shook hands with each other only once. Find the number of 

shake hands : 

(A) 40 (B) 760 

(C) 80 (D) 780 

61. Two numbers are in the ratio 3 : 5. If each number is increased by 10, then their ratio 

becomes 5 : 7. The numbers are : 

(A) 3, 5 (B) 7, 9 

(C) 13, 22 (D) 15, 25 

62. A contractor employed 210 men to complete a construction work in 60 days. After 12 days, he 

added 70 more men. In how many days will the remaining work be finished?  

(A) 38 (B) 35 

(C) 36 (D) 40 

63. A man sells two horses for Rs. 6,000/- each, neither losing or gaining in the deal. If he sold 

one horse at a gain of 25 percentage, then what is the percentage of loss at which the other 

horse is sold? 

(A) 
3
1

30  (B) 
3
2

16  

(C) 
4
1

15  (D) 40 
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58. 5 am&jV wq]pLp] y²}Wq]\ÿ]q]¨OÐ KqO vL\ÿV, KLSqL 30 o]j]ã]sOU 2 o]j]ãV v}fU 

WPaOf¤ WLe]-¨O-ÐO. ASf h]vyU  10.20 am jV  vL\ÿ]Rs pgL¡À yopU INfpL-eV? 

(A) 10.40 am (B) 9.45 am 

(C) 10.00 am (D) 10.10 am 

59. fOa¡\ÿpLp BrV CqŸ yUX|WtORa wqLwq] 25 BeV. CT yUX|Wt]¤ JãvOU vsOfOU 

R\rOfOoLp yUX|W¥ fÚ]sOç v|f|LyU INfpLeVV? 

(A) 20 (B) 10 

(C) 45 (D) 15 

60. KqO v]vLz kL¡Ÿ]p]Rs 40 yOzQ¾O¨¥ Kq]¨¤ oLNfU kqyVkqU RRW WOsO¨]. 

RRW¨O-sO-¨-sOWtORa I¹U WRº¾OW. 

(A) 40 (B) 760 

(C) 80 (D) 780 

61. qºV yUX|W¥ 3 : 5 IÐ AjOkLf¾]sLeV. KLSqL yUX|pOU 10 WPŸ]pL¤ AvpORa 

AjOkLfU 5 : 7 Bp] oLrOÐO. IË]¤ yUX|W¥ : 

(A) 3, 5 (B) 7, 9 

(C) 13, 22 (D) 15, 25 

62. 60 h]vyU RWLºV KqO j]¡ÚLe S^Ls] kP¡¾]pL¨L¢ KqO WqLrOWLq¢ 210 SkRq 

j]po]\ÿO. 12 h]vy¾]jV SwxU ASÇzU 70 SkRq WPa] S\¡¾O. mL¨] S^Ls]W¥ INf 

h]vy¾]jOç]¤ kP¡¾]pL¨OU? 

(A) 38 (B) 35 

(C) 36 (D) 40 

63. KqL¥ qºV WOf]qWRt 6,000 qPkpV¨V v]¤¨OÐO.  CakLa]¤ jìSoL sLnSoL ApL¥¨V 

Csæ. ApL¥ KqO WOf]qRp 25 wfoLjU sLn¾]¤ v]RãË]¤, oSã WOf]qRp v]¤¨OÐ 

jì¾]R£ wfoLjU INfpLeV? 

(A) 
3
1

30  (B) 
3
2

16  

(C) 
4
1

15  (D) 40 
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64. A box is to be filled with apples each weighing 
10
1

 kg. The weight of the box after filling the 

apples should not exceed 
5
4

kg. What is the maximum number of apples that can be put 

inside the box?   

(A) 6 (B) 8 

(C) 7 (D) 10 

65. How many terms will have to be added to get a sum of 10877 in the arithmetic series?  
5, 9, 13,... 

(A) 71 (B) 63 

(C) 73 (D) 74 

66. A cylindrical bucket of diameter 42 cm and height 10 cm was full of sand. When the sand in 
the bucket was poured on the ground, the sand got converted into a shape of a cone. If the 
height of the cone was 21 cm, what was the base area of the cone? 

(A) 1980 cm2 (B) 2015 cm2  

(C) 1780 cm2 (D) 2036 cm2 

67. What is the value of 





 −






 −






 −






 −

20
1

1
4
1

1
3
1

1
2
1

1  ? 

(A) 
21
20

 (B) 
20
1

 

(C) 
20
21

 (D) 
19
1

 

68. What is the value of x , if ?09039 =−+ xx  

(A) 3 (B) 6 

(C) 4 (D) 2 

69. The difference between the compound interest and simple interest on a certain sum of money 
at 10 percent per annum for 2 years is Rs. 25/-. Find the sum. 

(A) 1,500 (B) 2,500 

(C) 2,010 (D) 1,910 

70. If 1060 −  means 600, 412 ÷  means 16, 6 × 3 means 3, 10 + 2 means 5, then what is 
?101001000100010100 ×+÷×−   

(A) 10 (B) 0 

(C) –10 (D) 20 
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64. KLSqL 
10
1

 W]SsLNYLU fP¨oOç BÕ]¥ RWLºV KqO RkŸ] j]rpV¨eU. BÕ]¥ j]r\ÿf]jV 

SwxU RkŸ]pORa nLqU 
5
4

 W]SsLNYLo]¤ WPaqOfV. RkŸ]p]¤ vpV¨LvOÐ kqoLvi] 

BÕ]¥ INfpLeV? 

(A) 6 (B) 8 
(C) 7 (D) 10 

65. Ye]f Sèe]p]¤ 10877 fOW sn]¨L¢ INf kh°¥ S\¡¨eU? 

5, 9, 13, .......... 

(A) 71 (B) 63 
(C) 73 (D) 74 

66. 42 Ry£]o}ã¡ v|LyvOU 10 Ry£]o}ã¡ DpqvOoOç KqO y]s]º¡ BWQ-f]-p]-sO-ç 
m¨ã]¤ j]rRp oe¤ j]r\ÿ]q]-¨O-ÐO. m¨ã]Rs oe¤ fLSu¨V CŸSÕL¥ oe¤ KqO 
SWLe]R£ BWQf]p]Ss¨V oLr]. SWLe]R£ DpqU 21 Ry£]o}ãrLReË]¤ SWLe]R£ 
Aa]òLj v]yVf}¡¹U INf? 

(A) 1980 Ry.o}.2 (B) 2015 Ry.o}.2  

(C) 1780 Ry.o}.2 (D) 2036 Ry.o}.2 

67. 





 −






 −






 −






 −

20
1

1
4
1

1
3
1

1
2
1

1   R£ oPs|U INf? 

(A) 
21
20

 (B) 
20
1

 

(C) 
20
21

 (D) 
19
1

 

68. 09039 =−+ xx IË]¤ x  R£ oPs|U INf? 

(A) 3 (B) 6 
(C) 4 (D) 2 

69. 2 v¡xS¾¨V Nkf]v¡xU 10 wfoLjU IÐ j]q¨]¤ KqO j]é]f fOWpORa 
WPŸOks]wpOU yLiL-q-e ks]wpOU fÚ]sOç v|f|LyU 25. IË]¤ fOW WRº¾OW.  

(A) 1,500 (B) 2,500 
(C) 2,010 (D) 1,910 

70. 1060 −  IÐL¤ 600, 412 ÷  IÐL¤ 16, 6 × 3 IÐL¤ 3, 10 + 2 IÐL¤ 5, IË]¤ 
101001000100010100 ×+÷×−  INf? 

(A) 10 (B) 0 
(C) –10 (D) 20 
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71. What part of speech is the word “quickly”? 

(A) Adjective (B) Noun 

(C) Adverb (D) Verb  

72. Choose the incorrect spellings : 

I. Necessary  

II. Neccessary 

III. Neccesary  

(A) I and II (B) II and III 

(C) I only (D) None of the above 

73. Identify the sentence with the incorrect preposition usage : 

(A) He is allergic to cats. 

(B) She is fond of playing the piano. 

(C) The teacher insisted in completing the assignment. 

(D) They are excited about the upcoming trip. 

74. Which of the following statements are grammatically correct? 

I. She went to the store yesterday.    

II. He walk two miles this morning. 

III. They have eated lunch already.  

IV. We going to the park tomorrow. 

(A) I and II (B) II and III 

(C) III and IV (D) None of the above 

75. Identify the sentence with correct subject-verb agreement : 

(A) Each of the students have their own laptop. 

(B) Each of the students has their own laptop. 

(C) Each of the students have his own laptop. 

(D) Each of the student has his own laptops. 

76. Identify the sentence with correct use of the passive voice : 

(A) The cake was baking in the oven. 

(B) The chef is baking the cake in the oven. 

(C) The baker has baked the cake in the oven. 

(D) The cake will bake in the oven. 
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77. Select the sentence with proper use of capitalisation : 

(A) i am going to the mall.  (B) I am going to the mall. 

(C) I Am going to the mall. (D) i AM going to the mall.  

78. Identify the correct antonym of the word “Comfortable” formed with the suffix : 

(A) Uncomfortable (B) Discomfort  

(C) Comfortless (D) Comfortify  

79. Choose the sentence with the correct usage of the phrasal verb “give in” : 

(A) He gave into his friend’s request. (B) He gave in his friend’s request. 

(C) He gave in the request of his friend. (D) He gave up his friend’s request. 

80. Identify the sentence with the correct usage of a gerund : 

(A) She enjoys to swim in the ocean. (B) She enjoys swimming in the ocean. 

(C) She enjoys swim in the ocean. (D) She enjoys swam in the ocean. 

81. What is the term for “the excessive use of words”? 

(A) Verbosity  (B) Eloquence 

(C) Conciseness  (D) Laconism  

82. Choose the correct option for the reported speech : 

Direct speech : “I won’t be able to attend the meeting,” she said. 

(A) She said that she couldn’t attend the meeting.   

(B) She said that she won’t attend the meeting. 

(C) She said she can’t attend the meeting. 

(D) She said she wouldn’t be able to attend the meeting. 

83. Identify the sentence with the correct usage of masculine and feminine gender : 

(A) The tigress is known for his stripes. 

(B) The vixen is known for his cunning tricks. 

(C) The stallion is recognized for his strength.   

(D) The lion is known for her hunting skills.  

84. Select the sentence with the correct usage of words : 

(A) The knight road his horse into the sunset.  

(B) The night rode his horse into the sunset.  

(C) The knight rode his horse into the sun set. 

(D) The night road his horse into the sun set. 
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85. Which sentence uses correct comparative degree? 

(A) She runs more faster than him. 

(B) She runs fast than him. 

(C) She runs faster than him. 

(D) She runs fastly than him. 

86. What does the idiom “to spill the beans” mean?  

(A) To clean up a mess. 

(B) To reveal a secret. 

(C) To scatter seeds in a garden. 

(D) To drink too much coffee. 

87. Choose the correct sentence with proper use of the verb : 

(A) The child fallen asleep during the movie. 

(B) The child fell asleep during the movie. 

(C) The child falling asleep during the movie. 

(D) The child falled asleep during the movie. 

88. Rebecca rarely eats sweets,  —————? 

(A) does she (B) isn’t she 

(C) don’t she  (D) does not she 

89. What term describes the deliberate and systematic extermination of a national, racial, 

political, or cultural group? 

(A) Xenophobia (B) Genocide 

(C) Misogyny  (D) Ethnicity   

90. Choose a suitable synonym from the following options for the word given :   

Meticulous  

(A) Careful  (B) Messy  

(C) Careless (D) Both (A) and (B) 
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91. wq]-pLp khU f]q-R´-aO-¨OW : 
(A) v]h|Oê-©] (B) v]h|O±-©] 
(C) v]h|Oé©] (D) v]h|O-_-©] 

92. wq]-pLp vLW|U WRº-¾OW : 
(A) jPrO \fO-q-è-o}ã¡ v]ñ}¡¹-oOç nPo] 
(B) jPrO \fO-q-è-o}ã¡ v]ñLq-oL-p nPo] 
(C) jPrO \fO-q-è-o}ã¡ v]ñ}¡¹-oLp nPo]  

(D) jPrO \fO-q-è-o}ã¡ v]ñ}¡¹-f-SpL-Ra-pO-ç nPo] 

93. \OvRa RWLaO-¾]-q]-¨OÐ vLW|¾]R£ wq]-pLp kq]-nLx-Sp-fL-eV? 
‘Ij]¨V fs-Sv-h-j-pO-ºV’ 

(A) I am suffering for head-ache (B) I am suffering by head-ache 
(C) I am suffering to the head-ache (D) I am suffering from head-ache 

94. Ar]-pL-jOç BNYzU  & Kã-ÕhU JfL-eV? 
(A) ^]³Ly (B) v]v-ƒ 
(C) ³LjU (D)  S³pU 

95. ‘kƒ]-¨P-aV’ IÐ kh¾]R£ kq|LpU \OvRa j¤W]-p]-q]-¨O-Ð-vp]¤ j]ÐOU WRº-
¾OW : 

(A) AZU (B) j}cU 
(C) WÎ-tU (D) j]a]-sU 

96. S\¡R¾-uO-fOW : vLWV + vLhU  
(A) vLX~L-hU (B) vLY~L-fU 
(C) vLY~L-hU (D) vLZ~L-fU 

97. ‘Ao-qU’ IÐ kh¾]R£ v]k-q}-f-khU JfV? 
(A) Nno-qU (B) Ae]-pU 
(C) AjL-o-qU (D) j]qL-o-qU 

98. \OvRa S\¡¾]-q]-¨O-Ð-vp]¤ j]ÐV ku-RμLsæV WRº-¾OW  : 
(A) Ai]-W-oLpL¤ AoQfOU v]xU (B) R`Ÿ]sæL vŸ-p]-s 
(C) nY}-qgNkp-ÁU (D) oj-yL- vL\L W¡Ú-eL 

99. wq]-pO-¾qU f]q-R´-aO-¨OW & fLv-u] : 
(A) fL + vu] (B) fLvV + vu] 
(C) fLpV + vu] (D) fL + Au] 

100. ‘Rk°¥’ IÐ vL¨V JfV v\-j-oL-ReÐV WRº-¾OW? 

(A) mzO-v-\-jU (B)  JW-v-\-jU 
(C) h~]v-\-jU (D) ASj-W-v-\-jU 



 

 

038/2024-M 

A -30-

Space for Rough Work 
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